
CENTRAL BRAKE FOR ONE SIDE / ILLICO

AZAZDR
28/04/202428/04/202407/11/2018

1:8 ConfirmedVerifiedDrafted

Initials
Date

Scale:

Plan No.

EP00359 D/

EP00359 / D

Material
No. Plan Article Quantity
1
2
3
4
5
6
7
8
9
10
11
12

XP02300
YP06673
YP06937
Nut M10 DIN985
Wheel D75
M6x10
PlugRed
PlugGreen
X005824
X005825
M10x90
Washer M6 DIN125

2996460
2733700
2733482
1001683
1905247
1900641
1911604
1912499
1914581 (L)
1914582 (R)
1998812
1001564

2
1
2
2
2
6
2
2
1
1
2
6

|

|

VERMEIREN

1

1

2

3

3

4

4

5

5

6
6

6

7

8

7

8

9

10

11

11
Foot side

12

6

6

12


